PHYSICS 112


Vectors Problems.

C Cull
1. What is the vector sum of 2.00 m East and 3.00 m South? 
2. A plane is flying due N at 250 km/h when it experiences a wind of 40 km/h from the East. What is the resultant velocity of the plane? 
3. A car is driven 5.00 km bearing 200° then 2.00 km at 290°  Find the resultant displacement. 
4. After walking 11 km North from camp, a hiker then walks 8.0 km East, and this takes a total of 2.5 hrs. 
a) Find the total distance walked.

b) Find the total displacement.

c) What is the average Velocity?

d) What is the average speed?

5. A 26 foot Hunter sailboat (Serenity!!) travels at 8.5 m/s. It heads straight across a 110.0 m wide river that flows West at 3.8 m/s.  
a) What is the boats resultant velocity?

b) How far downstream does it travel when having reached the other shore?

